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AN mia=t (Class VIII)

MENTAL ABILITY TEST AND SCHOLASTIC APTITUDE
HSTRE TaraT Wifur w3 fefipit <f Garar

Time : 3 hours Max. Marks : 180 3R IBWT: 180

Instructions for candidates : Sitoegt set gerfeat:

1. This question paper is in two parts. 1. WW@H@W%% I

\ 2. IzsrrltSi-S:S 1(s) ;;(l)a(tli(i stgol;l/lse.ntal Ability Test which 5. uﬁ'a; Ogmr Hﬁa SaTaT &% AUT 3, fAw
‘3. Part - II relates to Scholastic Aptitude Test - 25 ffim - oo
' which consists of 90 questions relating to three 3. gﬂﬁ gTar @?%?;ﬁ .ﬁ T-fI WAIST 578 HEU3
subjects listed below: TIAT T E 90 YHS I |
i)  Science 1. Afew
i) ~Mathematics 2. ofes
iii) Social Studies 3. mifAa fefarrs

4. Each question carries one mark. All questions 4. a%awe*fe‘srﬂa% IS YA Hgel I |
are compulsory.

5. You have been provided with an answer sheet 5. f?FT YHE Y39 BE feq €39 Hie fosh ,
(OMR) for this question paper. Darken the et 3 I@WW(@WW)@?WEHU’T
correct option of each question in the answer @?B'HW/?ﬁB’ TB UG SHITA TIAE |
sheet (OMR) with black/blue ball pen.

| 6. IJoronfetactustat IaigrarAaeTd |

6. Rough work may be done on the blank space

provided for this purpose. 7. fen Y 99 fosrara (dife=) Hrafdar
, ; ST

7. There is no negative marking in this test.

o 8. €3gHle (6. 7. m.) §ug =eie sfegs <t

8. Donotuse white fluid onAnswelc (OMR) Sheet. WIS |

9. Half an hour extra should be given to visually 9. a=® sgadite fefonraent & i W2 or mit

impaired candidates only.

Fufegra<ar|



Rough Work / &9T 3w



1.

Direction Find the different (odd) term (6-10)

6.

10.

> o

8th

4,712,19,28, .........

1. 49
3. 36

57, 11,1317, ..cconueee.

1. 19
3. 16

BD,FLLP, oo

1. U
3 R

10,100,200 ,310,, .......

1. 420
3. 410

2429, 216,225, ........

1. 246
3. 236

8,27,100, 125, 216
1. 100
3. 216

71,73,77,79,83,89,
1. 8
3 N

9,16,30,58,112,226
1. 9
3. 30

EV,GT, IR, JP,MN
1. MN
3. JP

PUNJAB
CHANDIGARH
HARYANA
GUJRAT

Direction- Complete the series (1-5)

4. 30

2. 17
4. 15

2. 430

4. 400

2. 249
4. 281

2. 125
4. 8

2. 79
4 77

2. 12
4. 58

4, EV

6.

- 10.

8th

fegem- &=t & yar 9 (1-5)

4,712,19,28, ...

1. 49
3. 36

57, 11,1317, .......
1. 19
3. 16

BD,FILP, ...
1. U
3. R

10,100,200 ,310, ..

1. 420
3. 410

24,29, 216,225, ...

1. 246
3. 236

8,27,100, 125, 216
1. 100
3. 216

71,73,77,79,83,89,
1. 8
3. 7

4. 30

2. 17
4. 15

- 2. 430
4. 400

-------------

2. 249
4. 281

faaew -5 feasy €t < a3 (6-10)

2. 125

2. 79
N

9,16,30,58,112,226

1. 9
3. 30

EV,GT, IR, JP,MN
1. MN
3. JP

HW D =

2. 112
4 58



Direction-Replace the Question Mark by under-standing  fsaew-fe3 o et f'w Ay Fafuz wed o5

the relationship among Terms (11-15) far yus g &t w3 ot e 7 (11-15)
1. 1.
10 | 12 | 22 - 10 [ 12 | 22
14 | 22 ' 8 |14 |22
15 | 2 6 |15 2
1. 23 2. 25 1. 23 2. 25
3. 17 4 27 3. 17 4. 27
12. . 12.
15 82[13] 15[ 82 [ 13
16 | 73 | 21 16 | 73 | 21
20 ? |23 | 20( ? |23
1. 61 2. 74 1. 61 2. 74
3. 29 4 34 3. 29 4 34
13. : 13.
R PR AR ® @ @
1. 9 2. 10 1. 9 2. 10
3 N 4 12 3 1 4 12
14, | 14,

1. 20 2. 30 1. 20 2. 30
3. 40 4. 50. 3. 40 4, 50



1.

? 27

125

1. 1000
3. 512

2. 1228
4. 216

Directions- There is relationship among the numbers/
words on the left side of sign :: Developing same
relationship on the Right side of numbers /words
replace question mark among given alternatives (16 -
20)

16. Good : Bad : Roof : ?

1. Window 2. Wall
3. Door - 4. Floor
17. 18:325::22:7
' 1. 488 2. 485
3. 490 4, 390
18. B:16::E:?
1. 625 2. 8
3. 256 4. 30
19, 234:24::346:7 v
1. 61 2. 62
3. 72 4, 85
20. K11:S19::N14:?
1. U2 2. V23
3. Ri8 4. V22

. Directions -In questions (21-25 ) the numbers/letters
series have some blanks. Find the missing numbers/
letters to complete the given pattern.

21. bc_b.c_b_ccb_ _
- 1. bbcb 2. bebe
3. c¢bcb 4. chbc

15.

13| 8

125

1. 1000 - 2. 1228
3. 512 4. 216

fseew - f&'3 a@ ymst (16-20) feS g : @ ¥

i vt/ e et AT 3 19 - @ HR UR

fed a® #at/muet fev du refuz a9 oW fa

s &g <t Aqpr 3 3 o feasyt fee* &t

wear ? -

16. ¥ar, g7 837
1. fuzat 2..
3. gawr 4. I

17. 18:325::22:7

1. 488 2. 485
3. 490 4. 390
18. B:16::E:?
1. 625 ‘ 2. 81
3. 256 4. 30

19. 234:24::346:7

1. 61 2. 62
3. 72 4, 85

20. K11:819::N14:?
1. U21 2. V23
3. R1I8 4, V22

fsgem st (21-25) f&9 a /mive &=t fée
I Y AE'S 95 At /miyat €t fen st § fanfas
U ur f&9 fenr@e wet rat feasu €t ST a7 |

21. bc_b.c_b_ccb_
1. bbcb 2. bebe
3. cbeb 4. cbbc



22. ab_bccba_c__

1. aabb 2. caab
3. aaab 4. baac
23.  MN__ MN_NMNM_
~ 1. MNMN 2. NMMN
3.  NNNM 4. MMMN
24, 12_1122 _122 12 1
1. 1222 2. 2121
3. 2211 4, 2112
25. a_bbc_aab_cca_ bbec
1. caba 2. acha
3. bacb 4, abba

Direction -Answerd the questions (26-28) based on
Pyramid

1
234
98765
0 112 13 14 15 1
BUBRANNB
R R EEE
WBUEEUBRNUNDDRY
26. 2812:4614::91123:7?
1. 173637 2. 5614
3. 51519 4. 129
27. 91023:51619::2912: 7
1. 1274 2. 437
3. 147 4. 4514
28. 10119:16155:: 494826 : ?
1. 373836 2. 183440
3. 414232 4. 484727

29. In a certain language MADRAS is coded as
NBESBT How is BOMBAY coded in that

language
1. CPNCzB 2. ZBCNPA
3. CPNCBz 4. APNABZ

- 26.

. 28.

22. ab bcc ba_c
1. aabb 2. caab
3. aaab 4. baac
23.  MN__ MN__NMNM_
1. MNMN 2. NMMN
3. NNNM 4, MMMN
24, 12_1122_122 12 1
1. 1222 2. 2121
3. 2211 4, 2112
25. a_bbc_aab_cca_ bbcc
1. caba 2. acba
3. bacb ' 4. abba
fsgeE- s @ morg yHat ( 26-28) @ €39
fe& _ .
1
2 3 4
9 8 7 6 5
10 11 12 13 14 15 16
5 U200 19 18 17
DU BB NN UKD
49 48 47 4 45 4 83 2 41 40 9 3B
2812:4614::91123: ?
1. 173637 2. 5614
3. 51519 4. 129
27. 91023:51619::2912: ?
1. 1274 2. 437
3. 147 4, 4514
10119 : 16155 : : 494826 : ?
1. 373836 2. 183440
3. 414232 4, 484727
29 ¥ fai gur fe"g MADRAS $NBESBT fsfimir

w< 3t OR gaT fe"g BOMBAY 3 fa2* fafimr
e ?

1. CPNCZB 2. ZBCNPA

3. CPNCBZ 4. APNABZ




30. Inacertainlanguage SIGHT is written as HRTSG
How can be written REVEAL in that language.
1. IVVEOZ 2. IVEVZO
3. |EVEZO 4, OZEVIE

31. I EIGHT =25, SEVENTH =49 then ELEVENTH=?
1. 100 2. 78
3. 121 4. 64

32.  If MATHS= 61, SCIENCE= 58 Then HISTORY = ?
1. 122 2. 114
3. 98 4. 55

33. If MATA =260, PITA=2880 then BHAI = ?
1. 144 2. 288
3. 2628 4. 404

34. If BOOK = 2-15-15-11, COPY = 3-15-16-25 Then

PEN=?
1. 16-5-12 2. 5-16-13
3. 14165

4. 16-5-14

35. If SCHOOL =42, BENCH= 30 then DESK=?
1. 22 2. 26
3. 20 4. 38

36.  If'air'is called 'green’ 'green’ is called 'blue’ blue

is called 'sky' sky is called 'yellow' yellow is
called 'water' then what is the colour of sky ?
1. Blue 2. Sky

3. Yellow 4. Water

37. If 'room' is called 'bed" bed is called ‘window'
window is called ‘flower' and flower is called
‘cooler' then on what would a man sleep.

1. Window 2. Flower
3. Cooler 4. Bed

Direction -Write the following words in dictionary order
and find which word will come at second place ? (38-
40)

38. 1. astray" 2.
3. arery 4,

amany
assist

30. Aa9 fan faufea gmr f&9 SIGHT 3 HRTSG

fafipur 7@ 3t @i v fe'e REVEAL 3
fa< fafimr e
1. IVWEOZ 2. IVEVZO
3. IEVEZO 4. OZEVIE
31. #AAIMS = 25, WS - 49 3t fapurat = 7
1. 100 2. 78
3. 121 4. 64

32. ¥dd NY - 61, ArféN- 58 I© fowedt = ?
1. 122 2. 114
3. 98 4. 55

33. #ad MATA =260, PITA = 2880, 3€ BHAI = ?
1. 144 2. 288
3. 2628 4. 404

34 #Add BOOK=2-15-15-11, COPY = 3-15-16-25 3€

PEN=?
1. 16-5-12 2. 516-13
3. 14-16-5 4. 16-5-14

35. a9 SCHOOL =42, BENCH = 30, 3€ DESK =?
1. 22 2. 26
3. 20 4, 38

36. #a9 YT § ‘T, ‘I § BlET, BHT F
WS, wTE’ § disT, dtsT § St

faar 7@ 3t WA o fqgaT dard ?
1. & 2. MANS
3. ulsr 4. U

37. #Aa9 ‘aHd’ § fawser, fangd’ § ‘fuzal,
‘fuzal’ § ‘%, ‘% § g9’ fagr A< 3f

et fam Qua Her ¢
1. fugat 2. %
3. 987 4. fangar

fagew - do fod maet § #WePHt TTSHST WgAT
feg »3 €F v nus 3 fausT mge w=ar ?
(38-40)

38. 1. astray 2.
3. artery 4.

amany
assist



39. 1. Because 2. beverage
3. Dbistra 4. become
40. 1. kebrit 2. keter
3. keaper 4, keeper

Direction - In question (41-43) which of the following
diagram correctly represents relation between given
items .

(&) G @
(1) {2 ®3) 4@

41.  Fruit, Apple, Spoon
42.  Rajasthan, India, Bihar

43.  Author, Teacher, Men

44. Stone is related to hard in the same way as

feather related to
1. White 2. Bid
3. Fly 4. Soft
45. House is related to wall in the same way as wall
is related to
1. Sand 2. Brick
3. Paint 4. Roof.

Direction- In figure three intersecting circle represent
certain section of people and different regions are
marked a to g, Read the questions and choose the
letters which correctly represents question.(46-50)

o)
AN

Painter

39. 1. Because 2. beverage
3. Dbistra 4. become
40. 1. kebrit 2. keter
3. keaper 4. keeper

fagen- yas (41-43) &9 It i3 faiset g
fagar fo'gT yuw fea fe'dhut arebat ergmrt o
Aat T eanr@er 3

(&) @6 @
M) @) 3) 4

41. TB,H9, 9T
42. IANES, 993, faarg

43. By, miforud, mrent

4. Ygg o T3 38 €N S o gz o

Wiy &3 o feasy 575 31
1. faer 2. Ugt
3. €3 4. JaH
45 WITTHIT U &S QR 3Pt 3 faaardu er
iy fe3 g feasy 58 3
1. 3 2. fee
3. 3 4. 83

fsgenw -fa3e fe'e f3s ae? S99 wsT-wmar
It BA § TIAER IS I BT - MBI I F a
3 9&® Tanen famr 3135 f58 ymst (46-50)
& uF 73 At YT € ST a3

TR
(N7



47.

49.

50.

51.

52.

Indians who are painters but not Musicians
1. b 2. ¢
3 d 4. ¢

Painters who are neither Indians nor Musicians

W -
-
=N

Indians who are musicians but not painters
1. ¢ 2 d
3. b 4 a

Indiana who are painters as well as musicians
1. b 2. d
3 f 4 ¢

Painters who are musicians but not Indians
1. f 2. ¢
3 e 4, ¢

A walks 4 meter towards east , turning left he
walks 3 metres , again turning left he walks 4
metre. How far is he from starting point.

1. 3 Metre
3. 4 Metre

2. 5Metre
4. 6 Metre

Jas moves 3 metre towards south, turning right
he moves 5 metre, turning right from there he
moves 7 metre , again turning right he moves 5
metre . In which direction is he from the starting

point .
1. East 2. North
3. West 4. South.

Which word cannot be formed from

'‘PSTSENTSE'
1. TENSE 2. PENSET
3. SPENT 4. SENTENCE

46.

47.

48.

49.

50.

51.

52.

53

€37 a3t fagad U'eq I% y3 Hafzare st
IS '
1. b 2. ¢

3 d 4, g

U2 fAgd a7 3t 3733t 98 w3 5T It feitaana
ory|

1. ¢ .

3 f 4.

F3d1 fAa3 Mai3ad 96 uad U'ed adt 351
1. ¢ 2. d

3 b 4. a

F931 A0S U'ed &t 95 m3 Heisad €@ 951
1. b 2. d

3. f 4, ¢

U'29 fAax fanaard 95 ug 993t &3t I5|
1. f 2. ¢

3. e 4, ¢

AY3T T 4 ieg gBer 3, fea ¥ Uit y=a
€7 3 Hica Ter 3, fea Y& yR Y= €T 4
Wizg ¥3erd | SR G@uTss el fig &

faat gdt 3 91

1. 3)Mted 2. 5¥ied

3. 4¥Mew 4. 6Miea

A7 3 Hficg ey T § At I, AR UR ¥

€37 5teg Ater 31 €F €U AT U y=& 7
Hieg ster 31 feg AR U y=a €9 5 e
wrer 31E7 §u Tue o fig 3 fagst fewr
fe&g d1
1. yag

3. UseH

2. €39
4. YT

PSTSENTSE 3 faoav wae &dt gerfenr ar
Aaer |

1. TENSE 2. PENSET

3. SPENT 4. SENTENCE



54.

5.

57.

59.

61.

Which word can be formed from ‘'MERITORIOUS'

1. TROUM
3. RISTUN

2. MERITAS
4. VITROUS

Which meaningful word can be formed from the
letters E,C,A,R,E,T, H

1. REACHTR 2. EACHRET
3. TEACHER 4, CHEARTE
A river always has

1. Fishes 2. Banks

3. Boats 4. Weeds

Tinu has 12th position from both sides in a
queue. How many students are there in queue

1. 25
3. 23

2. 24
4. 22

Sumit ranks 7th in a class of 35 students what
will be his rank from the last.

1. 29 2. 28

3. 26 4, 30

A is the father of B, B's mother has a daughter
C, What is relation of A with C.

1. Sister 2. Brother

3. Grand Father 4. Father

M and N are sisters , M's father P has a brother
‘Q’ what is relation of N with Q's daughter.

1. Sister 2. Mother

3. Cousin Sister 4. Cousin Brother.

How many times the hour hand and minute hand
of the clock come opposite to each other in 12
hours

1. 24 times 2.
3. 12times

11 times
4. 20 times

54.

5S.

56.

57.

58.

59.

60.

61.

MERITORIOUS 3* fausT mew &dT gefonr
ATAEETJ ?
1. TROUM
3. RISTUN

2. MERITAS
4. VITROUS

fg'3 ar@ vee=t @ »yst ECARET, H 3

faaaT neayss Few seforr Ar Raer 3 7
1. REACHTR 2. EACHRET

3. TEACHER 4. CHEARTE

fea efenr wet ohEr agdt 9s-

1. Hemt 2. fasa

3. famgmr 4. gooft

fan fe'a srels fe'a 21y wets @ €5 urfmt
3 12 Aes 3 31 €F O Zels oo fad
fefenrast a5 7

1. 25 2. 24

3. 23 4. 22

A3 far arg fe9 72 res 3 S1Aa9 €
M3 €9 35 fefonradt 3T 3t Aura e
»iied uR 3 €9 faos nas 3 J2am?

1. 29 2. 28

3. 2 4. 30

A,Berfugrd,BeEt St y3dt €3 1AeTC
as at forar 3 ?
1. 3T
3. @

2. g3
4. fygr

M3 NE It as, Mo fustParserQ 3
Ner Q Syt e dl farar 3 ¢

1. 3T 2. N

3. godtd=T 4. YOIvIar

12 U2 &9 wat & ufent =8t get w3

firet T3t gt fe'a ga Aond féat =
w@aint

1. 2439 2. 1139

3. 1299 4, 20«3




62.

63.

Direction - In questions (64-65), If + means x, - means
+, x means -, +means + then

64.

65.

66.

Directions : Q (67 - 69)

67.

lf the 1st day of a month is Sunday then on which 62.

dates of the month Sunday falls.

1. 8,1522,29
3. 7142128

2. 9,16,23,30
4. 6,13,20.27

~How many '5' are there in the given sequence 63.

which are preceded by 2’

57825634259652578
1. 5 2. 4
3. 2 4. 3

9+8:8-4x9="? 64.
1. 55 2. 56

3. 65 4, 66

32+8-4x12+4="? 65.
1. -14 2. -40

3. -12 4. -41

How many cubes are there in given figure. 66.
1. 4 2. 5

3. 3 4, 6

How many square are in given figure. 67.

1. 7
3. 6

2. 5
4. 4

Aae fait waid <t ufast 3dia § waee 32
gt Wad bt fagstut Sdtat § waeT
A ?

1. 8152229 2. 9,16,23,30

3. 7,1421,28 4. 6,13,2027

et & fen =t e mfvd f43 ‘s’ 75 fagt
@ feqew ufast 2’ wer 39 |
57825634259652578

1. 5 2. 4

3. 2 4. 3

fsgem - AdT + E"HIBI x ,-TTHIBT +, x &
H3BYT - , + TTHIBY + 3T

9+8+8-4x9="?

1. 55 2. 56
3. 65 4. 66
32:8-4x12+4="

1. -14 2. -40
3. -12 4 -4
fegafegfdawsas ?

1. 4 2. 5

3. 3 4, 6

fanr fagew : yu& (67-69)

foggfegfdad sgaras ?
1. 7 2. 5
3. 6 4, 4



68.  How many rectangles excluding squares are in

given figure?
1. 6 2.
3. 4 4.

69. How many triangles are in the given figure
1. 29 2. 30
3. 24 4. 18

Direction- Seven Children A,B,C,D,E,F,G are standing
inaline. Gis to the right of D and to the left of B. Ais on
the right of C. A and D have one child between them, E
and B have two children between them, D and F have
two children between them. Ans question (70-72)

70.  Who is on the extreme right
1. B 2. E
3 G 4 F

71.  Who is exactly in the middle
1. D 2. A
3. E 4. C

72.  Who is on the extreme left?
1. D 2. C
3. B 4, A

Direction- In questions (73-74) The figure A is embedded
in one of the alternative. Find that alternative.

68. fo'39 fe'v zgart 3 fagt f&48 wfegas
57

1. 6 .
3. 4 4.
69. f9'39 fes fashut fagwt o=

1. 29 2. 30
3. 24 4. 18

fseew - A'3 99 AB,C,DEF, G fe'a zwets feg ug
I5 G,DIRIYAMI BT YT URJIA CS RA
URd | AM3 Dfegad fea ge" JIEMI B @
fegas @ 99 751 D w2 F @ fegae & §9 751
yeat (70 3 72) @ €39 fa€

70. AT AAURIAT |
1. B 2. E
3 G 4. F

71. AF I fegagd=z 3
1. D 2. A
3. E 4, C

72. AAFYTURIST?
i. D 2. C
3. B 4. A

faadw -yms (73-74) &9 fe'sr fapwr fo'sa* fait
feq feasy fe'g gfipnr Ifenr § 1 €1 feasy &t

IT 391
73 73
=8 Q0| =|8|Q 0|
A T 2 3 4 A T 2 3 4
74 74

1

4]k




Direction-Find the water image of figure ‘A’ in question

fsagn- yus (75-76) feg uret feg ues 3 fo'se

(75-76) A fad faar ag9 »@ar
75 75

A ol vl[v 0 A ol v1[¥ 0
NG NG ‘ NG NG e

“o| (v D51 >$_ D5 v [P ol[o >7
A 1 2 3 4 A 1 2 3 4
76 76

Ay FeYeYreNe) Z FeYre Y e\ e
® VJv sd vJvJ sd
A 1 2 3 4 A 1 2 3 4

Direction -Find the mirror image of Figure ‘A’ in
questions (77-78)

fsgew -yms (77-78) fea i ffaus 3 a3
A fad faor s59 »rar |

4] [

Bl

A 1 2 3 4

78

A 1 2 3 4

78

[o] ol ol

ol|le]lelo]

Lo]ol

Direction -In question (79-81) which figure is different.

A 1 4

79

mjalr

fsedw —yms (79-81) fe's oF o= fo'se faosr

1 3 4

79

w b

w| ||

AvislinaYiss




81

12

81

VWA W

VW AW

1 2 3 4

Direction-in question (82-84) find the correct alternative
to complete the given figure A

g

?
84
o zll L/ AN[e][o ]/
Lt /o] L INLAT
A 1 2 3 4

Direction-Which figure among four alternatives is
exactly similar to the given figure A in questions (85-

1 2 3 4

fegen- m(sz—u)ﬁ%k‘@m@faamﬁfe%
At feasy €t S 99 fan 578 fe'39 A yor T R

P WERH

84
| A EE R R
Lt el [ INA
A 1 2 3 4

fagew -fe3 are v feawyt €9 fo'sT Ass
faaar feasy fasas We yer &1 yws ( 85-86)

o) RS T P
Y [eleleld @) pleor



13

Direction-Figure A and B have some relationship.  f&39@F -yH® (87-88) fegfagg An3 Bfesa et
Developing same relationship among figure Cand D #iw 3, fe'3T ¢ w3 D f&s €4t g merfyz a3

replace question mark in questions (87-88) oF fa ygs fag <t wayr 3 ot w2 ?
87 87
b ? s | ?
AN
A B C D A B C D
7 A I L ) (L
, , s
1 2 3 4 1 2 3 4
88 88
L (|| 1 |l ? L (|| 1 — | ?
C D B C D
™ [ \ / — [ \ /"
1 2 3 4 1 2 3 4

Direction -In questions (89-90) which figure among  fsoew- yEs (89-90) fe'w 53t § yar 395 B
alternatives will replace the question mark according Y& 3% €t wayr 5& At feasy €t S a3
to series.

89 89

NEVRICIECE
)z

Dl0| 110DV

3 4 1 2 3 4
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90 90
D DD ||BIBR DB -
A B C D A B C D
1 2 3 4 1 2 3 4
Afew (SCIENCE)
91.  Moon is body 91. JEIH™ ............... eng 3
1. Luminous 2. Non Luminous 1. &z 2. mEEz
3. Transparent 4. Opaque 3. yrgegHt 4. wyrgedHt
92.  Whenarayoflighttravel fromAirto Glass. Then ~ 92. #& feTygmfass ser Fagfeg ot gt
1. ZLi=<ZLr 2. ZLi<Zr 1. ZLi=4r 2. ZLi<Zr
3. ZLi><r 4. ZLi<Zr 3. ZLi>4r 4. LigZr
93.  If refractive index of glass is 1.66 and velocity ~ 93. #JT T € WU=TI Wi 1.66 T2 W3 gar
of light in the air is 3,00,000 km/s. Then velocity few yaw & 975 3,00,000 fo fr/ids 32
of light in Glass is . 3t F9 feg yam & 95 fast 339 |
1. 4,98,000 Km/s 1. 4,98,000 fa ) ft/Adz
2. 3,60,000 Km/s 2. 3,60,000 fat/ fds
3. 1,80,000 Km/s 3. 1,80,000 fa Mi/Raw
4. 4,98,000 Km/s 4. 4,98,000 fat./fas
94.  Which of following combinations maybeangles ~ 94. 35 fafipt f@8* faar s fymn @ = §
of Prism e & :
1. 60° 60° 2. 60° 90° 1. 60°,60° 2. 60°,90°
3. 90° 90° 4. 30° 90° 3. 90°,90° 4. 30° 90°
95.  Which of following is magnetic material 95. I fefout 49 faoar Suet yeraw 3
1. Carbon 2. Calcium 1. 995 2. SBHPHY
3. Cromium 4. Cobalt 3. dfmy 4. JEBE
6.  Which of follwing planets have same size and  96. 35 fafipt fF faw 3T &7 orarg w3 I
mass as Moon. B ITFIT YN T gIvET I
1. Venus 2. Mercury 1. §aq 2. 57
3. Mars 4. Satum 3. OB 4. H&



97.

98.

100.

101.

102.

103.

104.
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What is the cause of Rain Bow - 97.
1. Dispersion 2. Refraction
3. Reflection 4,  Deviation

In which part of Atmosphere , Ozone Layer is 98.
present ?

1. Troposhpere 2. Mesosphere

3. Thermosphere 4.  Stratosphere

Which feul is used in Nuclear reactor 99.
1. Uranium 2. Helium

3. Coal : 4. Diesel

Image fo_rmed by concave lens is ........ 100.
1. Real

2. Inverted

3.  Larger than object

4. Between optical centre and Focus

What is ALNICO ? 101.
1. Metal

2. Non Metal

3.  Temporary Magnetic

4, Compound

Which of following is used as Cathode in Voltaic 102.
Cell ?

1. Nickel 2. Zinc

3. Copper 4.  Graphite

Which Element is used in Cell ? : 103.
1. Selenium 2. Copper

3. Gallanium 4, Mercury

Moist air is a mixture of 104.
1. HQ, CO, 0,

2. HO, CO, H,

3. HO, CO,0,

4. HO, O, H,

RISt W faw aas gt I 7
1. =3< fedue 2. MUTI3S
3. Uyd<IIs 4. fegse

8fis ugg TgnsE € fan g f&'9 Afes
37
1. SUAEMT 2. HEREMa

N

3. HIHAEHT 4. WEeHEI

fsQaat dhitaes f<'9 fauar yeree aoe @
J3 S Tfamrater 3 ?

1. GIatH 2. J1B

3. & 4. FH®

ne3® B&d Tar g farnr yfsfdg
G ok S ?

1. ¥w3fed

2. €zer

3. AT TF
4. yaH d'ed M3 T fegare

wefaa ot §&t
arg

warg
wAgTEt 9uT
fimez a3

B OW N

35 fafimit &9 fagar ¥ 7® feo ads

I fawrarerd?
1. f&a® 2. faa
3. Jigr 4. gdeEle

gort iz ger@e w¢ fan 339 € w93 it
Atet &

1. At 2. 3igr

3. aBfsom 4. WIadt

figt ger faw e fimgs
H,0, €O, 0,

H,0, CO, H,

H,0, CO,0,

H,0, O, H,

> @ =



105.

106.

107.

108.

109.

110.

111.

112,

The metal which is stored in Kerosene

2. Calcium
4.  Sodium

1. Phosphorus
3. Magnesium

Which of the following is obtained from coal tar?

Petrol

Coal Gas
Naphthalene Balls
Coke

=

Which is a thermosetting plastic
1. Melamine 2. Polythene
3. PVC. 4. Nylon

Magnesium oxide is formed when magnesium
burns in air, what is the nature of magnesium
oxide .

1. Acidic
3.  Neutral

2. Basic
4. Sweetin taste

Which of the following is a solid non metal

1. Sulphur 2. Hydrogen
3. Bromine 4. Oxygen
Black gold is

1. Petrol 2. Diesel

3. CNG 4. Petroleum

Incomplete combustion of methan forms
1. CO,+ HO 2. CO+HO
3. CO,+H, 4. CO+0Q,

Uniform of firemen have coating of which
material to make them flame resistant :-

2. Teflon
4. Bakelite

1. Melamine
3. PVC

16

105.

106.

107.

108.

109.

110.

111.

112.

fasst w3 § fitet @ 3 feg Azg =t
e 3 T wtar § |
1. TRSIH 2. IABHM

3. NISEY 4. At

35 fafont {5 faoar dw99 3 yruz ger
a1

1. 12

2. 3% 3w

3. 3Tusls Tt JiEhyt

4.

feaat &9 fagar wonitfear ysmfza 3
1. HevEs 2. UstHs

3. @stAt 4. IO
ﬂmm,mmg
I &9 7e@T 3 yryz der 31 few
RarSTEHN nraAres e gao fad fagr 3 o
1. 3=t 2. Yyt

3. Gurils 4. e feg fifar
35 fafnt fS8 SH g fagat 3

1. A®ed 2. JEIBIHS

3. HoMls 4. MIAAAS

T RS S

1. Ueam 2. Sas

3. Ftaz At 4. UITB

Wi @ wifaq 8T s @ geer 3 -

1. CO,+ H0 2. CO+HO

3. CO,+H, 4. CO+0,

war g8 T8 FoHTrdtt Dt Tauiut
waana’tuaaag?ja’riﬁ@nﬁbﬁr
dua g gt 3

1. N8 2. RTWEBS

3. @StAtr 4. HABEe



113.

114.

115.

116.

17

118.

119.

120.

Artificial silk is
1. Nylon
3. Rayon

2. Cotton
4, Polyester

The lowest temperature at which a substance
catches fire is called its

Ignition temperature

2. Freezing point

3. Melting point

4, Boiling point

—_

The nylon was prepared first time in
1. 1921 2. 1941
3. 1931 4, 1951

Which part of candle flame has high temperature
Innermost zone

Middle zone ( Yellow)

Non-Luminous zone

All the above

> o

Which of the following methods of irrigation
rotating nozzles are used
1. Chain Pump 2.
3.  Drip System 4.

Sprinkler System
None of these

The walls of large intestine absorb
1. Protein 2. Cellulose
3. Water 4. Roughage

Which is a male part of flower?
1. Androceium 2. Sepal

3. Gynoceium 4. Petal

In human how many eggs are released by ovary

every month
1. Two 2. Many
3. Four 4, One
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113.

114.

115.

116.

117.

118.

119.

120.

QA I :
1. IEBS 2. JUIT
3. IS 4. UTBHRET

€v uiz ¥ we Ius fAn 3 aet ueew
gBe BT 3, Eng &t afde 75

1. 7% IUNS

2. ANE IUNS (EFAN)

3. fuus € e

4. Gu® Tawr

se8s § ufast T a< st famrr |
1. 1921 2. 1941

3. 1931 4. 1951

vt @ gre @ faw vy @ AT 3 ferarer

IS 1

1. A9 T W<IST 91
2. fegarasT Wisr 439
3. WIS U3T

4. Qa3 Al

fegst fe9 faud fioet dar 578 Wne

et Sust fée dight wtEht 95

1. S50y 2. EI9T YIS

3. guaTyedt 4. fegst eIt sdt
S5t niteq ot Wedst A3 ot Auet I

1. @ 2. RZBH
3.yt 4. WSTMId

% € &9 99 fagar 37

1. Yand 2. TSRS

3. t-”snaaﬁﬂa 4. daEg Ut
Wy feg f&3 werg wean 9. 39 Wals
e3ndfAz §e 76 :

1. ¥ 2. SJI AT

3. 99 4. foa



121.

122.

123.

124.

125.

126.

127.

128.

Which is the smallest bone of human body
1. Nail bone

Fibula

Stapes (Ear bone)

Bone of Nose

s LN

Stopping of Menstruation is termed

1. Menarache 2. Menopause
3. Menstruation 4.  Sperms
Amoeba belongs to

1. Algae 2. Fungi

3. Virus 4.  Protozoa

Name the process by which fertile land is
converted into desert ?

1. Drought 2.
3. Both1&2 4,

Desertification
Floods

The Plants,animals and micro-organisms along
with climate, soil, river etc. of an area is referred
1. Fauna 2
3. Species 4,

Ecosystem
Kingdom

Which of the following reproduces only inside
a host cell ?

1. Bacteria 2.
3. Amoeba 4.

Virus
Fungus

The gas released during the preparation of bread

Oxygen
Carbon dioxide
Nitrogen
Sulphur dioxide

call

The stage when all the body parts can be
identified is known as
1. Zygote 2.
3. Embryo 4,

Foetus
Infant
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121

122.

123.

124,

125

126.

127.

128.

. W54t Fele €1 A  EA IS fau=t 3 7
1. ag&t
2. TEEsT
3. Ay @w &t Tsh)
4. T TH
WAd T'a9 & gae & &t faur wter 3
1. IACIHS 2. gnfsfest
3. WA I99 4. FaIE
e fan g2t &8 fdg gyer 3
1. gt 2. €8
3. =feaw (feme) 4. &
O Yfatfanr & 571 o fran 578 QuAr it
Wges fe'e geset 3 |
1. FAar 2. WJusiEes
3. 1mM32 4. TF
fo fe'ar 439 feud 09, #g w3 et @
&'T-5'8 7wy, fifdt, efenr nrfe & fagr
AT
1. #iewg 2. yrfafsa yag
3. yw3t 4. AII
5 fefimit &S faosr Maes e S Am @
ned &t Aes fafonr ager 3 -
1. #ieg 2. wfeaw
3. wpftar 4. €%t
398 3@ g€ Mt €3Us J= =t Sy
.................... 3
1. WarAs
2. IES FEIAET
3. &rEledHs
4. WZBST FETAHTES
€T wrener faw o9 73 wdlew et @t
oo IR @R g ... faor wer 3
1. Gad 2. &tew
3. g3T 4. FEAI



129.

130.

131.

132.

133.

134.

135.

136.

137.

138.

It 7 coppies cost is Rs. 35 then the cost of 1
dozen coppies is ?

1. Rs.84 2. Rs.48
3. Rs.72 4. Rs.60
Find the cuberoot of 6859

1. 33 2. 19

3. 17 4 29

If the digit on Unit place of a number is 3 then
the unit place digit of it cuberoot be ...........
1. 7 2. 3

3. 9 4. 6

How many vertices are there in a sphere
1. 1 2. 2
3. 4 4. 0
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135.

136.

137.

138.

Starfish and Frog are exmples of which ? 129. Hevafew 3 &§ I5 fofwnt f&F fawe
GegdE 95 7

1. Intemal Fertilisation 1. vWegat feres

2. External fertilisation 2. =J9t fares

3. 1&2 3. 1mM32

4. Budding 4. dfdar

Which of the following is a ruminant 130. 3 fafit f&F fagar wawe pd2 I

1. Buffalo 2.  Goat 1. MY 2. gdat

3. Camel 4.  Allof the above 3. €5 4. Quiaag ma
aifeg (MATHEMATICS)

Find the largest four digit number which lsa  131. 873 Wat €t TR FIAMeruzrad #

perfect square Y35 eI J |

1. 9000 2. 9801 1. 9000 2. 9801

3. 9999 4. 9981 3. 9999 4. 9981

Find the ratio of 200 paise to Rs. 3 132. 200 U €7 3 JUT &' MFUT UIT a9

1. 32 2. 200:3 1. 32 2. 2003

3. 23 4, 3200 3. 23 4, 3:200

50%of4lis [ | | 133. arevsos [ | 31

1. 50 2. 4 1. S0 2. 41

3. 50.41 4, 205 3. 5041 4. 205

tite=[ | 134. 18- ||

1. 100 cm? 2. 1000cm? 1. 100 AMt2 2. 1000 R MHY:2

3. 1m 4. 1cm? 3. 1M 4. 1AM

7 it BT Y 35 §: T 3t fe'q wews anubat
erHE at IR ?

1. 843 2. 487
3. 72¢: 4. 6049
6859 TT WY UTT T |

1. 33 2. 19

3. 17 4. 29

Aag far Afwear o feqre? W 3 3 3t GRe
wEys w feqet A ... g
1. 7 2. 3

3. 9 4. 6

feg di3 @ fas e J¢ 05

1. 1 2. 2

3. 4 4. 0
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139.  What is Euler's Formula 139. fe@eg ergav at &
1. F+V+E=2 2. F+V-E=2 1. F+V+E=2 2. F+V-E=2
3. FV-E=2 4. F-V+E=2 3. F-VE=2 4. F-V4E=2

140.  Find the measures of angle x in the following  140. f&'3 fa'gg fe's x (d= o wu) yar a3

figure
1. 108° 2. 100° 1. 108° 2. 100°
3. 115° 4. 118 3. 115° 4. 118°

141. Which one is correct in the followig formula ? 141. It fod gaa/aust fe*F fagar mat 3 7

1. Discount = Sale price-marked price 1. ISt -|WH® -Afaz ww

2. Discount = Marked price-Sale price 2. T -fazg vz - [WHE

3. Discount = Marked price - Buy price 3. I - ifag e -wdtw W'

4.  Discount = Buy Price- Marked Price 4. A - yfiw ' -Afaz us
142, (y-2z) (y+2) = 142. (y-2) (y+2) =

1. y2-yx 2. yx-x? 1. y-yx 2. yx-x

3. y-2z 4. -y 3. y-2 4. -y
143. The H.C.Fof 4 x%y, 6x°y? is ............ 143. 4x%, 6x°y*@HAT .......... T

1. 2xy 2. 2x% 1. 2xy 2. 2x%y

3. 2x%? 4. 2xy? 3. 2x%? 4. 2xy?
144, Find the value of 21220 144. 212-20°®THE® uIT I3

1. 12 2. 21 1. 12 2. 21

3. 20 4. 41 3. 20 4. 41
145.  Convert 60% into fraction 145. 60 % & fas gu e fow |

1. 35 2. 15K 1. 35 2. 15

3. 4/5 4. 25 3. 45 4. 2/5
146. Solve a™ ; a" 146. a":a" FTZ AT |

1. am» 2. am 1. am™» 2. amn

3. am™m 4. amn 3. awm 4, gm»
147.  find the value of x in x-4=7 147. x-4=7 fe€Sxe Y yaTag

1. x=11 2. x=7/4 1. x=11 2. x=7/4
3. x=28 4. x=3 3. x=28 4, x=3
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148. Ifin a circle diameter =d find its area 148. Aaq fo'q gae feg fem-d a2 stfener
43968 U™ Aq|
1. nd 2. nd 1. nd 2. md?
4 ' 2 4 2
3. nd 4. 2nd 3. nd 4. 2nd
149. What is the additive inverse of rational number  149. ufgie ifenr a/b T AFIHT €BT A T ?
alb ? | |
1. ba 2. 1 1. bla 2. 1
3. -ab 4. -bla 3. b 4. -bla
150. which of the following lies between -1 and 0 150. 35 fafipnt foF fagat #fr -1 73 0 @
_ fesaa nfaz 3 ?
1. -312 ' 2. 12 1. -372 2. 112
3. -172 4._ -1.2 3. -1/2 4, -1.2
mirfra feferis (SOCIAL SCIENCE)
151. Who was the founder of Khasis Tribe 151. Wi T8 eT et d= At ?
A .
v~1. TitSingh 2. BirsaSingh 1. Jg3 fiw 2. faanr fiwr
3. Tribal people 4. Karib Bakhs - 3. gufestdF 4. ddE EHW
'152.  Who was the General of Nana Sahib ? 152. a7aT Aoy o yfiT weds d M -
1. Shivaj L2 TantyaTope 1. firer 2. b3y
3. Mangal Pande 4. WajidAli 3. WEB YT 4. =fe st
153. Where was Supreme Court establishedin 17742  153. 1774 €T: fe'g Reefu s Tt AEusT fa &
| atgt aret ?
1. Mysore 2. Surat 1. AEQ 2. HIS
3. Dehi . 4. ~Célcutta 3. fest 4. TBAIT
154. Which Law was passed in 1829 ? 154. 1829 €. fe9 fauar ad& uw dfenr ?
1. Parda Pratha 2. Child Marriage 1. Y3erygr 2. 8 fenma
3 Sai Pratha 4. Dowry System 3. mItyEr 4. THYE
155. Who was the founder of Civil Service in India 155. gr9g f<'s fres mafen er AEt de At ?
1. Lord Harding 1. ®7IF Jafsar
2" Lord Camwallis 2. %93 qI&TEH
3. Lord Mountbatten ' 3. B9 HgTETS
4. Lord Dalhousie 4

. B93 3&IAt



156. Who did maximum work to spread western
education in India
. X% Raja Ram Mohan Roy
2. Smt. Annie Besant
3. Swami Dayanand
4. Swami Vivekanand

157.  Where was first cotton cloth factory established

in India
1. Calcutta 2. Madras
3. ~Bombay 4. Pune

A

158.  What was the counting of Local Territories after
getting independence.

1. 550 2. 552
3. 542 4,562

159.  Who started the policy of Lapse ?
1. Lord Warren Hastings
.2 Lord Dalhousie
3. Lord Clive
4. Lord Curzon

160. When Mahatma Gandhl started Non-Cooperanon

Movement ?
1. In1930 2. In1928
\ /3/ In 1920 4. In1932
161.  The Oolong Tea of Taiwan is famous for its
- 1. Colour 2. Length
3. Taste 4. Price

162. What is known as white gold ?
1. Rice 2. Cotton
3. Maize 4.  Wheat

~ 163. Which of the following is also called regur or

cotton soil
1. Black Soil 2.  Red Soil
3. Alluvial Soil 4. Desert Soil

156. mfe-e-umﬂfnfu»rrémm‘tnaa'
<T & fand disr
1. 9 I HI& I
2. HSt At Sie
3. ARt ewde
4. ANt fedardwe

157. 3793 1< ufos™ gt qumr araursr fad
Sarfen fapr ¢

1. BIIT 2. HEJH

3. #gEt 3. yaT
ISS.WB‘WWE?@H?WF!?

farest fast it ¢

1. 550 2. 552

3. 542 4. 562

159. mammmﬁamgwm
"t ?
1. B9F TI&SIAfeTTT
2. B9F SSIHT
3. BIFIABET
3. 39T ITUS

160.,mnm%xrﬁm>ﬂ€ma?5§
atar e
1. 1930 2. 1928
3. 1920 4. 1932

161.?&@39&9&%@8&!{&%%?
1. &I 2. Byt
3. AEE 4. Iz

162. f¥er AaT fan & vy g5 ¢
1. gew 2. gug
3. Het 4. g

163. %mhﬁmmam#m
Me&fawwal
1. a3t fiue 2. I HA
3. A8t i 4. Wgmst firet



164.

165.

166.

167.

168.

169.

170.

What type of resources are plants and other
living creatures ?

1. Developed Resources

2. Potential Resources

3. Abiotic Resources . -

4, Biotic Resources

Sundri Trees are found in which of the following
forests ? '

1. Desertic Forests

2. Evergreen Forests

3. Delta Forests

4. Mountaineous Forests

The Puddiing process is associated with which

crop ?
1. Wheat 2. Rice
3. Jowar - 4. Bajra

Which day is celebrated as "Population Day ‘in
India?

1. 11 May 2.
3. 1Jduly 4,

11 June
11 August

Osaka City is also known as -
1. City of Temple

2. Manchester of Japan

3. Pearl City-

4. Silicon Valley

" What is the meaning of term "Birth Rate” ? .

——h

Live births per 1000 of People
2. Live births per 100 of People
3. Migration of People

4, Natural Growth Rate

'TISCO' was established in the year
1. 1901 2. 1907
3. 1913 4. 1919
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164.

165.

166.

167.

168.

169.

170.

PR e

3, 11 g@TE 4.

T #7 W3 18 faud mrus e 951
feafrs Arus

HI'<3 ATUS

faavie Arus

#ie IS

fedt @ wous faus Heorst 9 fise 757
HIEBT HI%

HET §U'd HIIS

3T OIS

yggSt 7S

H WD =

‘ag qa5T Yfafenr fa ane 578 ATUS 3 ?

1. 2. ITH

3. #<9 4. "I

g3 fegfaud fes § SR feew @ o3
WaTfemr wier 31

1. 114 2. 1198

11 MdHI

Exrar ufge 3 fan 39 aW 5% &t wfenr
Aerd ?

1. ¥edt e ufag

2. AUS T WEOACT

3. HItt e Afgg

4. fAstas wet

FeHed’ ' Fatged?
1. 1000 Za fu'e Qe AaW
2. 100 B fu's fAQ? Aaw

3. g T AESHIIE

4. gEIAITUTET

ferd@ (TISCO) faol A& fee rerfuz &1t
aret .

1. 1901 ' 2.
3. 1913 4.

1907
1919



171.

172.

173.

174.

175.

176.

177.

3. 250 4.

According to which Article RTE (Right to
Education) is included in the Indian
Constitution?

1. Atticle 20-A 2.
3. Article 17-A 4,

Article 21-A
Atticle 22-A

When the Human Right Day is celebrated every
year |
1. 25June 2.
3. 10 December 4.

15 December
26 January

Which of the following right does not belong to
‘Human Rights Protection Ordinance’ ?

1. Right to Property

2. Right to live (life)

3. Right to Human dignity

4.  Right to freedom

How many members are elected for RAJYA
SABHA from States and Union Territories.

1. 245 2. 238

12

Which of the following factor is not a danger for
the unity and social equality of India

1. Communalim

2. Casteism

3. illiteracy

4. Ideological organized political parties.

Which organ of Government has the power of
Judicial Review ?

1. Judiciary 2.
3. Legislature 4,

Executive
President .

According to Indian Constitution which Right
does not come under ‘Political Justice’

1. Right to Vote

2. Right to contest election

3. - Right to livelihood

4. Right to criticize the Govt.

24

171

172.

173.

174.

175.

176.

177.

. fifinr & wifgers faw mgae st ez @
ffeus fe's s st fapwr 3 7

1. "MZET20-A 2. #Wzaw2i-A

3. MEETI7-A 4. WMIST2-A
W3 4t wifaag feen 99 ires & Wt shar
a7

1. 259% 2. 15TA=d

3. 109999 4. 26 A&t

35 fafimit (€5 faaar wifaars ‘et »ifaars
B fepnm wifoomy @ widts w4t 3 7

1. AUt e wfgag

2. ¥ies e nifgag

3. WEHt dfaw e mfgarg

4. HIITI T AHfggg

TH AT € fad WEd TAT »F d'59 BT
yer feS g At os 7

1. 245 2. 238

3. 250 4. 12

3 9793 € AT B yIer AT 37

1. Auygerfeaar

2. "3l

3. WaUF3IT

4. froisa 3 dofsg orstsa e
fennfex yaafsdtus & maat naars @ faw
AT

1. fewiufesar 2. aorufss
3. feusufsar 4. gweust

35 fafynit fS§ fagar nifaars 393t Afears
MEA'T IHAIST fant @ muts sat vr@ar?
1. [ ugs e »ifgas

2. 9< 535 @ nifgag

3. 3t 3@ awle o mifgarg

4. HAIIAT & MBFsT q9E T Mfgag



178.

179.

180.

25

Who is regarded as the father of Indian
Constitution ? |

1. Pt Jawahar Lal Nehru

2. Mahatma Gandhi
3. Dr. Rajinder Parshad
4. Dr. B.R. Ambedkar

Under which section (Article) does the Judiciary
(Supreme Court ) has the special power to listen
appeals of, criminal cases? V
1. Secton132 2
3. Section 361 4.

Section 136
Section 140

In which year Anti Dowry Act came into force in

‘India
1. 1961 , 2. 1947
3. 1950 4. 1919

178.

3; -
1. Ufs3 A<99 &8 sfag
2. MJTIWT gt
3. 3n IfAed yae
4. BT @I, HECAd

179.

180.

AUy &3 § Swerdt wnifenrt e il
Aes € feRy gadt fan RAEs (UaT) MEAd
feRt aEt 3 ?

1. AR5 132 2.
3. RAIESE 361 4.

R 136
RAIHE 140

3w feddt ags 993 fe'e ae gafonr

- fapr
1. 1961 2. 1947
3. 1950 4. 1919
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